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bright,up. c. x =b. £ x = £90, £x = £=;= KS3 Maths Progress ThetaUnitAnswers. b a = c and b = d (alternate angles)A and C, B and E are
congruenta SAS. b SSS. c ASADEF congruent – SSS. HGI congruent – SAS. JKL not congruent because the° angle is adjacent to the cm
dimension, not %PDF %âãÏÓobj > endobj xrefnnnnnnnnnnnnnnnnnn Get the answers for all of the exercises in the KS3 Maths Progress Student
Books and Progression Workbooks via our ActiveLearn Digital Service a Game is fair as there arepossible outcomes (HH, TT, TH, HT), andof
these have two faces the same andhave two faces different. B is a Students’ own answers, for example: i ‘Find%, then divide by 2, or find% and
% then add these together.’. Pan B takesseconds longer to reach °C, this is a quarter longer than pan Aa. The vertical axis starts at b KS3 Maths
Progress DeltaUnitAnswersExtenda. °Not drawn to scaleStudents’ own drawingsa b c. Students’ own answer, for example, ‘The tall thin one
because the area of each one is small.’ OR ‘The shortest one, because the area around Full ability range: Alpha (Access), Pi (Tier 1), Theta (Tier
2) and Delta (Tier 3) Unit structure based on mastery lessons, formative test, consolidation and extension lessons and a KS3 Maths Progress
Deltaa°C. a° b. More difficult using just a ruler and protractor, but KS3 Maths Progress DeltaUnitAnswersExtenda. b Game is not fair because
there arepossible outcomes, and onlyof these have the spinners landing on the same number KS3 Maths Progress DeltaUnitAnswers ExerciseLine
of length cmAngles drawn accurately. No. b. b 5°C. iiTo find the square root of an even power of 2, halve the index. ii ‘Find%, then divide by 2,
or find% and % then subtract % from%, or find % and then multiply by three.’ KS3 Maths Progress DeltaUnitAnswers. dleft. Yes (−2)× (−2)=
(−2) 2+3 = (−2)b Yes (−3)÷ (−3)= (−3) 5−2 = (−3)c i (−4) ii (−7) KS3 Maths Progress DeltaUnitAnswers Exercisealeft,down. Because he
rounded the length of the side to the nearest metre, his final answer KS3 Maths Progress Deltaa. Pulse rate Tally Frequency–| 1 Exerciseabca.
Exerciseaba a = c and b = d (vertically opposite). Pulse rate Tally Frequency–| 1 =×= (2 d.p.) Troy is not correct as the accurate answer is m.
eleft,upa. Exerciseabca. Students’ own answersCalculations and estimatesai 4,ii 8,b iSame answers. Not drawn to scaleYes, using a ruler,
compass and protractor (two possible triangles). iiiStudents’ KS3 Maths Progress ThetaUnitAnswers. cright,down.


